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1. On aquiz, Omar solved a quadratic equation and got the answer wrong. His work is shown below. Identify
his mistake and then solve the equation correctly to find the real solution.
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#2 — 5: Verify that each of the following values are solutions to the given equation. Show ALL of your

work.
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I CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING

P21

APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEXT.
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6. Samantha solved the following problem on a test and got the right answer. Unfortunately, she doesn’t know
which answer is the actual solution. Explain to her which solution is correct and why.

5) The height “4” of a water balloon (in feet) at time “X’ (in seconds) is given by the equation.
h(x)=-16(x~0.65)" +10. Ifa student throws the balloon and it hits a student who is 6
feet tall in the head, how long was the balloon in the air?
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#7 ~10: Solve each equation for real solutions and simplify your answers. Verify your solutions!
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#7 — 10 (continued): Solve each equation for real solutions and simplify your answers. Verify your

solutions!
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#11 — 14: Find the roots of each function and simplify your answers. Verify your solutions!
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v'Verify your solution(s):
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#11 ~ 14 (continued): Find the roots of each function and simplify your answers. Verify your solutions!

13. f(x)=2(x-1)*-18 14. f(x)=3x2-24
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15. The height of a ball in the air, A, at time # can be modeled by the equation
h(t)=-16 (t- 1) +32. How long does it take for the ball to reach the

ground? (round answers to the nearest hundredth)
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16. Big Bertha, a cannon used in WW1, could fire shells incredibly long distances. The page of a shell could be
modeled by y =-0.0196 (x ~25) * +12 where x was the horizontal distance traveled (in miles), and y was

the height (in miles). How far could Big Bertha fire a shell? (1ound answers to the nea1est mile)
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